Print Test https://assessment.casa.uh.edu/Assessment/Print . Print Test https://assessment.casa.uh.edu/Assessment/Print...

PRINTABLE VERSION o~ cncmevpan (-om, 22 ) ant 22 o s concavedomno

i 3 V3 V3 3 | 3 35
Quiz 13 jj&/Q_/ (— \3 s %), pts of inflection (——é* s ?Z) nd (— %—- , = gg)
Question 1

: . \ .
DObCI’lbe the concavity of the graph of f(z) = 2*® — 2z + 6 and find the Wb@f AL 0%_ d) - concave up on {—oc, 0); concave down on (0, oc); pt of inflection
}ﬂs oflnﬂcchon (if any)

7/ (0,0).
5 00= Ix=2. ,—Y—(\L)"QL ‘?00 O _;7(-0 ”'$(X7W5 KNE 7 3

~——— "'\'—{-‘(‘ ; —0G, — ——— - . :
a) - concave downon | —oc, 3 i concaveupon | 5,00 ptof = T €) - concave downon { —00, 3 and 3 ,oc), concave up on
<

r ; - - .
inflection (~;—, 0). CohCO\IQ, db‘k\h (-‘:<0) . (‘)O\ 0) (_ %ﬁ . 3-3—-) pts of inflection (_\é - ifl) and (_ \_‘Q’ — 3_0

Con - . 3 36 3 36
Sheawg wp (F>e): (0000 2Z @ =0 =90Egr=0 2A(x-F2x+3)=0

wl

b) . concave down on (—0o0, 50); no points of inflection - ‘Q - _S: Question 3 a2

PE T irflediun(003) =pfy=1rxxIzy
¢} . concave up on (—o0, 0); concave down on (0, 00): pt of inflection = W 6) Describe the concavity of the graph of f(z 971 and find the points
(0,6). - of inflection (if any),,

~f¢ e 2 (QyX#D d [08x (3x5F%) % {

d) _ concave down on (—20, 0); concave up on (0, 00); pt of inflection 0= 5 (9x “(/' 3 V=0
(0,6). E"IO) S concave up on? —-00, 0); concave down on {(}, 00); pt of mﬂechong L=
e) concave up on ( 00, oc) no points of inflection "F(x) DK\E‘

’ 2
__ ) b) concave down on (—oc, - g) and (O 3) concave up on 9 1%3

, =
EF/(X __2/7x‘3 -F-()()-Z‘L “? 7631‘-_‘) 2‘ ( <_ % :0> and (; > pt of inflection (0, 0). ( NST IN

Descrifie the concavity uf th( graph of f(&) = 5 .1'2 and find the 2| ('x.‘.r )(X “r)

points of inflection (if any). )Q E c /\l ( _o ) ) Po qu>
g D © 3 MYHbQY‘ \MQ— 0'% 'S‘-/ c) concave down on | —oC, : ; concaveupon | —,0o0 |; ptof
= 3 3
TOO T 2 Poe 3
a) LOIlC'l\C down on {00, 0G); no points of inflection

2
— inflection [ — .0).
b) - concave down on (- 20, 0); concave up on (0, o); pt of inflection™ —,3 "5— N V\\Mb'(’fr \m 6
- ——= —t-++*~~— A

(0.0)
T CONCR. up Hl><>} (~p, E) ) (‘E- 0 ) E)

1of7 Coh cavk down (-]‘_ oy ( \r 03/01/2)1501 52 PM 20f7 Con(aue UP ({'>0> L"" 0V L~ y D9) 03/01/2015 01:52 PM
<
CoWMEVR dowih (J<a) - (o _2
) 5 §'ea) - (PeFHU 103D

Poluts «f ToHection - sz (’[3) L"‘ ?; poiit - Infetim (o Fy)=(0.0) .
as By~ ( -2y,




Print Test //

4. {—m: 2% 35", D(*?)tkfl. F00=2 2 (x=3)?

(9= 2 (xp) 3% N
0(( ) C{\R‘:} - - EUA R I S

https:/fassessment.casa.uh.edu/Assessment/Print. .. Print Test https:/fassessment.casa uh.edu/Assessment/Print...

T0=0: NoNE S Fog prE : X=3

d) . concave down on (—oo, 00); no points of inflection b) concave up on (0, % . concave down on {_7;_ b
12 12
2 2 2
e) concave up on { — —, — |; concave downon | —>0, — — | and T 1%
) 3°3 3 €) concave up on | 0, E and on (—ﬁ— , T }; concave down on
'.7

; pts of inflection (— 0 and .- 0 ) PMVO\' “{; -—[ﬁﬂp C(A’W\ <7_7r 1]_1)

Colrcou® Up (‘Y'(xwo) 1212 )
Question 4
e LQV\CM{ ox <s<w<<>) (-M +3) (‘—MCW) S

: in
Describe the Toncavin 1€ graph o 2{z — 3)”" and findthe = (.7, D: d) . concave up on (E s ): concave down on (0, "17;) and on
points of inflection (if any). 24 . )

11w
F ST
a) concave up on {—oc, 0)): concave down on (0. oc); pt of inflection
(0,0. e) concave down on (0. 7).

tion 6 -~
b)  concave down on (—00, 00); no points of inflection Question %% (’P) - i K0 3 _

Find ¢ so that the graph of f(z) — ¢z’ + 2™ hasa point of inflection at

<) concave up on {00, 0c); no points of inflection (4, f(4)). "?%C(«)Z 0 o "F/?C(,) DNE CTV\O\ uy S D("F)
d) concave down on (—00, 3); concave up on (3, 00); pt of inflection 3 / ) -3
(3.0). a) == oo ()= 2(X—22XC
. . 3 I % _ 6
z:) N 0Corlcave up on (—o0, —3); concave down on (—3, 00); pt of inflection b) pRE 5 %L\() = 2~ 6 x —2C—+ ;&'

- b os (2x — 2%
HX) [bx- ) <§]—(XB PO\EK%:‘;?/ \V\"H(SX W c) ¢ 3

Question 5

> W=0 zﬁfp =0

128
Describe the concavity of the graph of f(z) = 82% — 8 sin(2x) on thL (x) =0
interval [0, 7 . ‘ 3 o
St Q(Z*): —_— d) G 256 C -
2
a) roncave up on (0, _171'_3) concave down on <_7_T2_ , ) _? 2?(.— 'Z_L r.L—-}- e) c—=10
Question 7
N7 X< AT T o N |
. , Py oV The graph of f'(z) is shown below. Give the interval(s) where the graph of
&4 (x) pNE - NONE . (2 = .

3of7 NU\W\W—\M 0‘% ‘%\'{/ Concave u P : LO 053&/2015 o1szeM 4 of 7 03/01/2015 01:52 PM

| (2_) @) K%( {1 )
CoWn (ot olwﬂf\ m' iy

| Y
SRR
|

= T



Print Test https://assessment.casa.uh edu/Assessment/Print ... Print Test https://assessment.casa.uh.edu/Assessment/Print...

flz) is concave up. => —‘P//(X) >0 \M/\TOV\ YALQWS "?/ |\5 \-Vwmﬁﬂat
I3 '1)
/] N\
( \ b) ' f(z) is decreasing on the interval (% . 1). \/
Co\
{
{
i

). x ocal ax

9

> f(.z) has a local minimum at the point (g , =

\‘\ ) f(x) has a local maximum at the point (1, —T7). >< \0( Ql myn

\
d) fla) 1s increasing on the interval ( ) K (’90 13) v (,l { DO)

1 0
e) _ f(z) bas a point of inflection at the point (1, —7) >< ( { %(-\ ),)
Question Defy=1p  Fx) = £ ST cos09 +3c0500)

Which of the followmg is true about the graph of

f(z) — 2sin3(z) + 3 sin{z) + 1 on the interval [0, 7? 8COS(X> (ZSWDQ'H)

.

. Otk pt. Fo9=0
( M\ 2-) U (2\ DO) — K f(z) hasa Iocal minimum at the point ( 5 b)é Cbs(xz_o
a) _'{—oc,0)and (2.00) _ = X >
DHL)A‘R >< fla)i g on the interval |~ \_‘
W (oo =2 2ool) Ron oy T +6 N T—hw"f’ti\"“‘*{

I

Cm'u (Ql P# 6 (31,-—([«1‘\' | ) 6 BI-—\)(L%) X ) is concave down on the mter\ '11 0 ) Eéé Z
{X> 0 ‘; X:() ‘ Q(O\\ MY \/() f(x) has points of inflection at the points (—E 2\§ + ]) and

\s
/ \ / local win. (3%,2\/%1

_’Il "“—"—‘—-—nﬁ.m

Questions  FFTAT == - _4 Flo= 25 X)cosm bS ) ~3si0X).
Which of th(, follomng is frue Fhmﬁ the graph of >< 2 f .) ) is concave up on the interval (0
Fz) = 6% — 122% + 6z — =125 N\f“S\W( ~5 sl (X)~>S Thix

Question 10

. - _
PQW b{\ ‘? ()():361 -ZL’L ""{ 2(. X L> Given the graph of f'(x) below, where is f(z) decrcasing?
fectitnl?, - Z .
Ig;ﬂ'em VLFQ() =Q -'—Q X= -—::7)_-' 03/01/2015 01:52 PM 6 of 7 — \{%SWFCX) *C(QMOQ 03/01/2015 01:52 PM

= q9mooksivieg dwi gy i
oW | Concave 1 S e
concave d (" WL dp PGWJY of l(f\H@d’/&'&&\) 0 D x=0 l g“‘\‘;‘—r‘f‘féﬁj}d
————:’:"‘ ' + S(K _ - ' Tr E W
— _;_‘f'f‘f‘f‘f :Y(OOVO st 0<)=lL = sThp)=F \lﬁ/ ) X‘; ,%7 LG



Print Test https://assessment.casa.uh edu/Assessment/Print...

n, of

\
’\"P‘l"\—\—\\-—f - = ~——/\-P\—-‘

/5 : 7\ D«er\\% NS (‘6 B)UW\DQ>
\/ \

a) ' f(z)is decreasing on the interval (—0, 7).

b) _ f(x)is decreasing on the intervals (—6,3) and (7, o).

) f(z) is decreasing on the interval (—6, oc).
d)  f(z) is decreasing on the intervals (—oc, —6) and (3, 7).
e) f(x) is decreasing on the interval (—oc, 7).
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